Tenses Activities
Perfect tenses
Practice 1: Complete the text with the appropriate form of the verb in brackets. Choose: present perfect simple, present perfect progressive or past simple
The ageing population
The number of men and women in the US aged 60 or over still in work a ( rise ) ……………..for more than a decade. Economists b ( give ) ………….a number of reasons for this trend. First, since 1985 the US economy c ( expand ) …………….so there d ( be ) ………………an increased demand for labour. At the same time, the cost of some services, such as health care, e ( increase ) ……………….so workers need to earn more money in later life. In addition, changes in social security benefits and rules f ( have ) ………………a considerable effect on labour patterns. First, in 1977 and 1983 changes to the Social Security Act g ( raise ) ……………...the full-beefit age from 65 to 67 and h ( introduce ) ………………..other changes that make delaying retirement more attractive. Then, in 1986 the Age Discrimination Act i ( end ) ……………..compulsory retirement for all workers, allowing them to work later in life. Changes to pension laws j ( also encourage ) ………………….workers to stay in employment longer, as this gives them more chance of a larger pension when they retire.

Practice2: Now imagine how you might report a news event you have just heard on the radio to a friend who hasn’t heard it. If you are in class, do this with a partner. Here are some events to help you. What tense will you use?
You begin: ‘Have you heard?...’
a) Woman in Madrid wins five million dollars in lottery. Only buys one ticket. Loses ticket. Finds it in rubbish bin. Claims prize.
b) Canadian woman becomes first person to cross the Pacific Ocean solo on a raft. Only one small sail. Built it herself. Journey six months.
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2 Complete the two texts about World War 1 with the correct form of the verb in brackets. Use past
simple, past continuous, past perfect simple or past perfect continuous. Only use a past perfect form
if it is necessary to make the meaning clear.

The condition of Britain in 1917

“The government also a (need)  needed to ensure that Britain was fed. Under the Defence of the
Realm Act it was able 10 rake over land and trn it over to food production. In February 1917 it

b (set up) the Women's Lund Army 1o recruii women as farm workers. By then,
however, the food supply in Britain ¢ (became) desperate. German U-boats

d(snk) one in every four British merchant ships and Britain had only sis weeks' supply
of wheat lefi. As faod supplies  (run) short, so prices f (rise) Wages
g (andly rise) during the war because peaple were mostly prepared to sacrifice hetrer

pay tw support the war cffort, but prices were now almost double what they h (be) in
1914. Poorer people could not even afford basic supplies such as bread. Shops i (close)

carly each aficrnoon as they j (run out) of goods to sll.





